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Math 36 Test 4 Pretest, Chapters2 & 7
Round each part (length or angle measure) in an answer to
the nearest tenth, unless otherwise indicated.
1.

The following refer to triangle ABC with C = 90°. In each case, find all of the missing parts.

a) a=68andb=104. b b)

4 a =243 and ¢=48.1. -
= A . 2
Side ¢: ¥z 6B +IoY ¢/ |68 |[sideb: bred8a-243" 4g./ |,
et= 15,440 . L ez
Q= 17.'4.5[ T YT

I

b- 415

Argle Ax k< ZF | Angle A: SinA 2.%37
A= tan”' (682 104)

| A= sin~'(a4.3 * 2 48.1)
lA: 3427 . &:jf;?_,l ) " 2- 5Q7J

(-]
¢) b = 305and B =24.9°. 24.9 b d) c=8landA=355,

o
/‘%147 le A ¢ l/’\ = (95\ < o~ /%ﬂjbﬁ,

: e b 35.5
Side ¢ ¢ C05G541°= -23{-2 A 305 C’% side b: Cos 35,8°= 2

R

C = 305 -—-b C-.]zqu b - ‘Z \"COS‘3$§°=P | Q(D-b
T CoS6s.” = : !
3 | Side & : SIn3s 50 i
§§%&¢, (® Wi hhbg.’o: a \ . = .g--|
305

| az §1%35m25.5%°= |la=4.7
a= 7)05'4un6$.l°=?\ S5 ey -

2.  The altitude of an isosceles triangle is 25 cm and each base angle measures 17°.
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3. If the angle of elevation of the sun is 68°, 4. If a 73-foot tall flagpole casts a 51-foot

how tall is a fence post that casts a shadow long shadow, what is the angle of elevation
that is 2.4 feet long? - of the sun? (Round to the nearest degree.)
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5. Jerrod is paddling a kayak on a lake. He pauses 100 meters

from the nearest point on a shore and points the kayak 100 m
toward a dock that is 240 meters down the straight shoreline. .
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a) Atthis mornent how far is the kayak b) What angle with the shoreline is the
from the dock? (Round to the nearest meter.) kayak making as he paddles toward
3l the dock? (Round to the nearest degree )
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